Multiply and Divide by 1000 (G)

Find each product or quotient.

15 x 1.000 = 53 x1.000 =
60 x 1.000 = 32:1.000 =
58 X 1.000 = 1x1.000 =
73:1.000 = 75:1.000 =
88:1.000 = 82:1.000 =
90 X 1.000 = 24 :1.000 =
13:1.000 = 93 X 1.000 =
42:1.000 = 3 x1.000 =
67 X 1.000 = 33 X 1.000 =
16:1.000 = 16:1.000 =
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Multiply and Divide by 1000 (G) Answers

Find each product or quotient.

15 x 1.000 = 15.000 53 x 1.000 = 53.000
60 x 1.000 = 60.000 32:1.000=0,032
58 x 1.000 = 58.000 1 x1.000=1.000
73:1.000=0,073 75:1.000=0,075
88:1.000 =0,088 82:1.000 = 0,082
90 X 1.000 =90.000 24 :1.000 =0,024
13:1.000=0,013 93 x 1.000 =93.000
42:1.000 = 0,042 3 x1.000 =3.000
67 X 1.000 =67.000 33 X 1.000 = 33.000
16:1.000 =0,016 16:1.000 = 0,016
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